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WILHELM  STEINITZ  (Part VI)

A famous position won by Emanuel Lasker, who wrested the world title from Steinitz:  two sacrifices expose Black fatally (8 moves): 
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Steinitz lost his title as world champion in 1894 when, at the age of 58, he was no match for his 25 year old opponent, Emanuel Lasker.  Undoubtedly age was a factor in Steinitz’ loss, with the ageing champion past his best and his young opponent at the height of his powers.  In Game 7, with the score 2 wins each, Steinitz outplayed Lasker in the opening, winning two pawns, but Lasker was able to work up a very dangerous kingside attack which Steinitz was unable to withstand.  This loss seemed to break Steinitz’ resistance and he was decisively beaten +5, =5, -10. 

Steinitz played a return match with Lasker in 1896-7 but in failing health (he died three years later) was clearly outclassed (+2,  =5, -10).  Here is the pivotal game of the first match:



Emanuel  Lasker   -   Wilhelm  Steinitz



World Championship 1894, Game 7



Ruy Lopez, Steinitz Defence



 1    e4  
e5  


 2    Nf3 
Nc6



 3    Bb5 
d6 


 4    d4 
Bd7



 5    Nc3 
Nge7


 6    Be3 
Ng6



 7    Qd2 
Be7(a) 


 8    0-0-0 
a6



 9    Be2 
exd(b) 


10   Nxd4 
Nxd4



11   Qxd4(c)
Bf6 


12   Qd2 
Bc6



13   Nd5 
0-0 


14   g4(d)
Re8



15   g5(e)  
Bxd5 


16   Qxd5
Re5



17   Qd2(f) 
Bxg5! 


18   f4  
Rxe4!



19   fxg5 
Qe7 


20   Rdf1(g) 
Rxe3



21   Bc4 
Nh8(h) 

22   h4 
c6



23   g6!(i) 
d5(j) 


24   gxh+ 
Kxh7



25   Bd3+ 
Kg8 


26   h5 
Re8



27   h6 
g6 


28   h7+ 
Kg7



29   Kb1(k)
Qe5  


30   a3  
c5



31   Qf2  
c4


32   Qh4 
f6(l)  





33   Bf5! 
Kf7(m) 

34   Rhg1!!
gxf5(n)  



35   Qh5+ 
Ke7 


36   Rg8 
Kd6(o)



37   Rxf5 
Qe6 


38   Rxe8 
Qxe8



39   Rxf6+ 
Kc5 


40   Qh6 
Re7



41   Qh2!(p) 
Qd7(q) 

42   Qg1+ 
d4



43   Qg5+ 
Qd5 


44   Rf5 
Qxf5



45   Qxf5+ 
Kd6 


46   Qf6
resigns(r) 

a)  Very much Steinitz – a strong-point defence maintaining his centre pawn at e5, accepting a cramped but sound position.

b)  The pawn cannot be maintained at e5 and if 9…0-0 10 dxe, Ngxe5  11 Nxe5, Nxe5  12 f4 with advantage.

c)  11 Bxd4 allows 11…Bg5  12 Be3, Bxe3 easing the cramped position by exchanging.

d)  More logical is 14 f3 first.  Lasker has missed Black’s coming pseudo-sacrifice. 

e)  If 15 f3, Bxd5  16 Qxd5 (16 exd5?? Rxe3!) 16…Be5 gains control of f5 while if 15 Nxf6, Qxf6  16 f3, Qe6  17 Kb1, d5 or 17 c4, b5. 

f)  17 Qxb7 allows Black the option of attacking the weak kingside pawns or use the b file to attack the king.

g)  Rather than 20 Bf3, Rxe3  21 Bxb7 White accepts the loss of a second pawn to attack the king.

h)  Defending the f pawn in typical Steinitz fashion.  

i)  Clever play, depriving the knight of the g6 square and enabling White to open the kingside. 

j)  Black could establish a clear winning advantage by 23…hxg!  24 h5, g5!  25 h6, gxh!  26 Rxh6, Re8!  27 Kd8 or Rhh1, Qe4.

k)  With this and the next move White improves his position defensively before resuming the attack.

l)   If 32…Kf8  33 Bf5! maintains a strong attack – 33…gxf5  34 Rhg1, f6  35 Rg8+, Ke7  36 Rfg1.

m) If 33…gxf5  34 Rhg1+, Kf7  35 Qh5+, Ke7  36 Rxf5 with a strong attack.

n)  If 34…c3  35 Bxg6! Nxg6  36 Qg4 maintains the attack.

o)  Better was 36…Kd7 or …Kd8.

p)  Not 41 Rf8? Rxh7!

q)  If 41…Qd8  42 Qf2+, Kb5  43 b3! Re1+!  44 Kb2, Re3!  45 bxc+, Ka4  46 cxd, Re4  47 d6 winning.

r)  An amazingly complex game.  Lasker later paid tribute to his great opponent: ‘I who conquered Steinitz must see to it that his great achievement, his theories, should find justice and I must avenge the wrongs he suffered.’ 

SOLUTION:  1 Bxh7+! (not 1 Qxh5, f5) 1…Kxh7  2 Qxh5+, Kg8  3 Bxg7! Kxg7 (if 3…f5 both 4 Rf3 and 4 Be5 both win for White) 4 Qg4+, Kh7  5 Rf3, e5  6 Rh3+, Qh6  7 Rxh6+, Kxh6  8 Qd7 winning one of the bishops and the game.

